th& 1014 AD//EF//BC & o), DF : FC 2] ¥]&?

A -6cm~_D
/
/
GCpl
\
\
E F
4cr‘r/1
B C



thg 195} o] AD 9} EF 9} BC 7} %)
o o, x o] kS Fahelet.




ot} 133 Zo] AD // EF // BC
A off, x,y O] FS FoHH?

® x=15,y=13.6
@ x=16,y=136

® x=17,y=146

@ x=17,y=15.6

® x=18,y=136



4. o 23 Z2 AtElE ABCD 41 AD //EF //BC ©]i1l AE :
EB=1:2 ¢ off, BC 9] Zo|& Fs}oiet.

4c

~10cem”




th= 13 9] Afth2]E ACDF ¢4 AF //CD©li, AB: BC =1:2
d m, CD ¢} Zo]& szt

_--18cm- _

Ac—— 1)
E _--15ecm -/
> E

G




~-_10--"

D x=8,y=2 @ x=6,y=2 ® x=6,y=4

@ x=4,y=3 ® x=5y=2



7. o2 "4 AD//BC <l Aftte]l&E ABCD oA H M, N o] AB ¢}
CD 9] HdL W, x +y 9 2?

--10~-~

A= ~—>D
%g;j:>A )
B —C
N



8. ok I¥elA AD//EF//BC & o, EF 9] Zo]&?

A _Hcm < D

@D 7em @ S8cm 3) 9cem @ 10cm 3 11lcm



9. oh 2e|4 AD//BF //BC & o, x+y ©] 3& Fsfoiet.

/’7\\\D
E;/3 TN\F
LV\—y——”
]
B\

Tt -14---"

4
\
-C

-



10. o T4 AD//EF //BC U o, x -y 9| 2k& Fatofet,

A -10-<D




11. ohg 193 28 Athe]& ABCD oA AD //PQ//BCo]1l AP :
PB=3:24 1, PQ2| Zo]&=?

- -8~
_ -

—D

Y

@D 10 ® 10.2 3 10.4 @ 10.6 ® 10.8



12. T 29914 AB//EF//CD @ u, x o 327

@D 60 ® 70 3 80 @ 90 3 100



13. o2 2994 AD//PQ//BC & W, x +y o] 22

SR~ -7

D 7 ® 75 B 8 @ 85 ®B 9



14. thg 197 7o) Attelze] = gjztae] @
Wepa o] ATkl Eat gy 4 217t
Zol&=? (H, AD = 3cm, BC:4cm)

_-3cm-~ _
A D
P 0 Q
B¥- —C
~4cm-
8 10
@ —cm ® —cm



15. o5 I"elA AD//PQ//BC ¢ ©, PQ ] dol=?

~-10-~_

A D

p Q

B — — Al
~~-15---

@D 10.5 @ 11 ® 12 ® 12.5 ® 13



